E IR B R

BE-_ZTZNE=-A=1t—HALEE

ERf i) RAx EXRD RE RK
BA  REE &% #6  wxEms 4
WE  TEx  FEx  TFEr  FEx  FEn  FEr  FE=x
R-ZEZ-FEMA-A 23632 121,507 13,872 (7,723) 19,454 - 170,742
ERRERYARBRERER
W FE - - - 1,415 - - 1,415
HREE 28 11,951 19,121 - - - - 31,072
RERTERRE 28 570 686 - - - - 1,256
ROBTHAX 28 - (1,948) - = - - (1,948)
KEE A - - - - 12,566 - 12,566
“EE=E4HRE 12 - - - = (3,615) = (3,615)
“EEZERKRERE 12 - - - - (3615 3,615 -
R-ZZEE=F=F=+-HR
“EZ=EMA-A 36153 139,366* 13872  (6308)*  24,790* 3615 211488
ERRERYARBRERER
W FE - - - 2,300 - - 2,300
RERH 28 1,700 11,900 - - - - 13,600
RERTERRE 28 2,655 5,416 - - - - 8,071
ROBTHAX 28 - (382) = = = = (382)
ZWFHE%IJ - - - - 125970 - 125970
EERZ-ZE=FXRERE 12 - - - - = (3615)  (3,615)
“ZEMERHRE 12 - - - - (10,079) - (10,079)
“ZEMERIRE 12 - - - - (40,508) - (40,508)
“EEMERKRERE 12 - - - - (32407) 32407 -
R-ZEEME=A=+-H 40508 156,300 13872 (4,008)*  67,766* 32407 306,845
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R E IR B R

BE_ZZNE=A=+-AILEE

B&f Bt kx ERRE *E 31
kx  RER fik fe" it BR" RERS agy
TExr FTErxr TErx TEx TFEr TEx TE=x

ERARMEAT 40,508 156,300 13,872 (4,044) 09,627 32,407 308,670
N - - - 36 (1,861) - (1,829)
R-ZZEEME=R=+-H 40,508  156,300*  13,872*  (4,008* 67,766* 32,407 306,845
ERARMEATF 36,153 139,366 13,872 (6,344) 26,651 3615 213,313
BERT - - - 36 (1,861) - (1,829)
R-ZE=§=ZR=1-H 36,153 139,366*  13,872*  (6,308* 24,790 3,615 211,488

# REZEZEMF=ZA=+-AZRAREFHREERLTEQRBERSL412,491,0008T (ZEB=F :
12,491,000/ T) °

i AREFUBETHELAAMELZE THESHNMNGERBEFME  ARFBEHRNYBREMH
#30(a) °

DERBREBENGAEEEBRYIR 25 E#15233,930,000/8 T (ZFF =4 : 171,720,00058 T) °
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